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What if by a nu1wi> nnew where her 78°2 dos not feed her

OVERVIEW

There is a 1"p that a Y% n2 who is nwTPn to a 375 should be permitted to
eat 717N; for if a N°1v1d AMoWw who cannot eat 72170 if she had 1X°2 with a 172,
nevertheless if the 775 acquired her (as a anow) with Q02 she eats 7N,
therefore a P%7w° na who eats 710 if a 172 acquires her with 7%°2, should
certainly eat 7N if the 175 acquires her with 702. Our MdoIN explains that
even though we find a X370 on this 1"p regarding 2°11p, nevertheless that
X7’ is nor relevant here by 72170 N92OK

mooIn resolves an anticipated difficulty:
—90Vv21) 9922 NP NYN XNV 1‘17’):5 NI 92N P ININ

We cannot derive from this 1''? that a woman can be acquired with no2

or with VW -
— D92 AN 19V NI NNAYY N1 719915 NIINT

For we can refute this 1"p; why is a nop1 popid anpw with [Qvwn] Aod

because she is n®22 7INXY%; however an WX who is not A922 7RYY cannot be NP1
[Mowa1] Ao3a -
— 199390 NNN 222 195w 799945
as the X723 previously refuted a similar 1"p from 75927 7K.
“1997 799905 79U XY *112990 NY2AN PayY Yan

However concerning eating 72190 such a refutation is not applicable.

' Seemingly there is a 1"p; if a nvawi> aMOW who cannot be acquired (to her master) through ;x»a,
nevertheless she can be acquired through 70w 703; therefore an 7WX who can be acquired through ;%"
(from the 7%y 709) can certainly be acquired Tuw2) A2, Why do we need the 2’109 mentioned on 2,7
and X,77 to teach us that an AWK is N°1p1 with 7w 7o3?! See: ‘Thinking it over’.

%3,7. See MdON there X povn 7"

? Seemingly how can the X723 here state a 1"p that if by a 2"w her 71903 is 721902 in%°2x8n then certainly by
an WX her 71903 should be mMN2 n%°oKn; we can refute it by arguing that by a 7w her 71905 is IN?°38N
7nITN3 since she is 7052 NRYY; however by an WX her 7902 is not N2°X7 since she is not 7932 XYY,

* When we wish to derive a (1o q03) 3P by an awx from 3"w, we can properly refute it, for a 3" has
more 2°13p than an AwX (for only a >"¥ is 1032 X¥Y"). However here where we already know that an 7wX is
qo321 n°1pl; we are merely deriving that she can eat 770 through this 703 13p, what logic would there be in
saying that only a 3"¥ can eat 770 since she is 1022 ARXY but not an WX since she is not 7032 1xxY. The
fact whether one is 1022 XX or not, is relevant only to her 13 status but not to her eating 77170 status. It is
totally illogical to assume that there is more reason to eat 7n17n if one is 1032 AR¥Y as opposed to one who
is not no32 nxxY. (In addition if we assume that the V"p from 3" is merely a Xn2> "2 that an WX is PIp
1903 (see previous 71 117 N1BOIN), then certainly this X370 is irrelevant.)
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SUMMARY

The refutation that a n°1v1d AndW is 7032 1AXXY (which prevents us from
deriving 7031 0w w1 7°p by an 7wX from a 3"w) is not applicable to n972K
7N,

THINKING IT OVER

mooIn asks why we cannot derive 2021 703 by an #wX from a N°vid Anow.
Seemingly we can argue that 1°21n 722°, for she is X212 n°1p1 (like an AWR),
and nevertheless is not 7w no32 NP1, This would refute the proposed 1"p!’

5 See 1"nx footnote # 139.
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